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When data is well clusterable,
most clusteringorithms/formulations
will work well

.

When data is not well clusterable
-/&

no clustering algorithm/ formulation
will find a good clostering .
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We hamakes a good clustering ?

With For each Si
,

XxES,xx) small

it For Si
,

S
1

(most) XcS; xiaS;

D(x
,
x) large
-

Overall
width-split

⑪with
Gr small lit

Spwitht
Sifi-

A

&
S
;



Aerarchical Agglomerative Clustering (HAs]
(points)

If two clusterswe close
,
-> merge them

#Exex in own closter :
O .

1. while (two clustersare close.enough)#Find pair Si
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S,
-Merse bestse sbius;
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Density-based Clustering (lbran)
Two-Parameter
-

= radius (what is close
T = MinPts (density parameter)
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connected components


